
Ì
+
Ü

1>|� =


Ì
Ü

1>|� �b←−−−−−−
nexion

�∧
Ê � Ì Ê

�b �Ä
Y[

= Ê�b�
Y [

Ä+� Ê D Ä
Y [

�b − �d �
Ì
Ü

1>|�

Ê�b −�d
Y [

X Z

�Ä
Y[

= Ê�b �ÄY[− Ê�d �ÄY[ = Ê�b�
Y [

Ä+� Ê D Ä
Y [

X Z

− Ê�d�
Y [

Ä+� Ê D Ä
Y [

X Z

= Ê�b�
Y [

Ä+� Ê D Ä
Y [

− Ê�d�
Y [

Ä−� Ê D Ä
Y [

= Ê�b�
Y [

Ä− Ê�d�
Y [

Ä

= Ê�b�−�d�
Y [

X Z

Ä = Ê�b −�d
Y [

X Z

�
Y [

Ä� Ê�b −�d
Y [

� >|�

Ì
+
Ü>|�

db

��
Ì
Ü

2>|�



Ê
′
Ê

d�b
Y[

= Ê�b ; ′
Ê
�b −

Ê ;
′
Ê
�b � >|�

Ê
′
Ê

d�b
Y[

�Ä
Y[

= Ê�b Ê

′

�b �Ä
Y[

X Z

− ′
Ê
�b Ê�b �ÄY[
X Z

−
Ê ;

′
Ê
�b �Ä
Y[

= Ê�b ′
Ê
�b�
Y [

Ä+�
′

Ê D Ä
Y [

X Z

− ′
Ê
�b Ê�b�
Y [

Ä+� Ê D Ä
Y [

X Z

−
Ê ;

′
Ê
�b�

Y [

Ä+� Ê ;
′

Ê
X Z

D Ä
Y [

X Z

= Ê�b ′
Ê
�b�
Y [

X Z

Ä+ ′
Ê
�b�
Y [

Ê D Ä
Y [

+ Ê�b�
Y [

′

Ê D Ä
Y [

+� Ê D
′

Ê D Ä
Y [

X Z

− ′
Ê
�b Ê�b�
Y [

X Z

Ä− Ê

′

�b�
Y [

′

Ê D Ä
Y [

− ′
Ê
�b�
Y [

Ê D Ä
Y [

−�
′

Ê D Ê D Ä
Y [

X Z

−
Ê ;

′
Ê
�b�

Y [

Ä−� Ê ;
′

Ê
Y [

D Ä
X Z

= Ê�b ′
Ê
�b�
Y [

X Z

Ä− ′
Ê
�b Ê�b�
Y [

X Z

Ä−
Ê ;

′
Ê
�b�

Y [

Ä+�
= 0

Ê D
′

Ê D Ä
Y [

−
′

Ê D Ê D Ä
Y [

− Ê ;
′

Ê
Y [

D Ä
X Z

= Ê�b ′
Ê
�b�
Y [

− ′
Ê
�b Ê�b�
Y [

−
Ê ;

′
Ê
�b�X Z

Ä =
Ê

′
Ê

d�b
Y[

�
X Z

Ä


